Outcome of di-photon seperation
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Reminder; pure Showerflow evaluation metrics
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Di-photon seperation, changing only SF

3.0

Hot pink — original
block structure, 10
layers.

M
L
I

Steel blue — altl
block structure, 10
layers.

Avg. No. Reconstructed Photons
3]
[=]

=
(%)
I

L0+

Green — altl block

05 structure, 2 layers.

1.10

8 Ty et

E 1.05 r___Jn-_l EE E::__:ﬂ;:; _j:L A” have 62
2 100 — = u — .
- PP, inputs/outputs.
= 095 :]l :

0.90 ll] J I

0 5 10 15 20 25 30



Counts

Counts

Counts

16000 o
8000
14000 8000
7000 4
12000 6000
10000 6000
1 [] [] 00 4
8000 -
o I u t i
60004 I I 0’ LI ]
4000 2000 2000
2000 - 1000
0 y u u T T T T 0 T T T T 0 T T T T
1000 2000 3000 4000 5000 6000 7000 0.0 0.2 04 0.6 0.8 s 0.0 0.2 0.4 0.6 0.8 10
total counts counts layer 10 counts layer 20
2
J 1.04 %—Wﬂ Mﬂ
14 7b_~ 0.5
0.5+
0 T T T T T T T T T T T 0.0 T T T T
1000 2000 3000 4000 5000 6000 7000 0.2 0.4 0.6 0.8 5 0.0 0.2 0.4 0.6 0.8 10
5000
17500 1
2500 4
2000 4 15000
20007} 12500
3000 4
1500 4 10000
2000 + 7500 4
1000 A
5000 A
500 1000
2500
0 T T T T y T T T T T 0 T T T T
500 1000 1500 2000 2500 3000 0.2 0.4 0.6 0.8 1 0.0 0.2 0.4 0.6 0.8 10
total energy energy layer 10 energy layer 20
/ 10 Wv—&ﬁ#\
14
054 0.5
o T T T T T T T T T T 0.0 T T T T
500 1000 1500 2000 2500 3000 0.2 0.4 0.6 0.8 55 0.0 0.2 0.4 0.6 0.8 10
16000
7000 g4
14000 4 20000 original nb10
12000 60007 [ alt1 nb2
s [ altl nblo
10000 1 15000 1
4000 A
8000 1
10000 4
6000 4 3000 4
q 20004
4000 5000 4
2000 4 1000 4
] T T T T T 0 T T T 0 T T U T
-10 -5 o 5 10 -10 o] 5 10 10 15 20 25
CoG x CoGy CoGz
2 2 2
19 19 K 11
0 T T T T ¥ 0- T T T T 0 T T T T
-10 -5 [ 5 10 -10 -5 0 5 10 10 15 20 25



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5

